STATEMENT OF REVENUE POLICY 2023-2024



STATEMENT OF REVENUE POLICY 2023-2024

INTRODUCTION

This Statement of Revenue Policy forms part of Councils Operational Plan and provides details in accordance with Section 405(2) of the Local Government Act 1993, and Clause 201 of The Local Government (General) Regulation 2005.

The objectives of Council's Statement of Revenue Policy are to:

- 1. identify the revenue sources available to Council, and
- 2. where possible, establish the total revenue required by Council to fund its activities.

STATEMENT OF RATES

In accordance with Section 514 of the NSW Local Government Act 1993, each parcel of land within Council's area must be categorised for rating purposes. The four primary land categories used for rating purposes are:

Category	Application of Rating Category
Farmland	The Farmland Rate applies to all rateable assessments categorised as farmland under Section 515 of the Local Government Act throughout the whole of the Council area.
Residential	The Residential Rate applies to all rateable assessments categorised as residential under Section 516 of the Local Government Act throughout the whole of the Council area.
Business	The Business Rate applies to all rateable assessments categorised as Business under Section 518 of the Local Government Act throughout the whole of the Council area.
Mining	The Mining Rate applies to all rateable assessments categorised as Mining under Section 517 of the Local Government Act throughout the whole of the Council area.

In addition, and in accordance with section 529 of the NSW Local Government Act 1993, Councils rating structure also includes the following sub-categories:

Category	Sub-Category	Category	Sub-Category
Residential	Tenterfield Business		Tenterfield
	Tenterfield Urban		Jennings
	Jennings		Drake
	Drake		Urbenville
	Urbenville		Other
	Other		

To provide a fair and equitable rating structure, all general land rates within all categories will be made/levied on the basis of a base amount plus an ad valorem rate for 2023/2024.

A base amount is an amount paid by every rateable property in that land category, regardless of land value. The ad valorem amount (cents in the dollar applied to land value) is an amount calculated in addition to the base amount. The base amount and Ad Valorem amount are combined to give the total amount of the rate payable.

Council will also apply land values for the purposes of calculating rates that have been supplied by the Valuer General of New South Wales (Valuation NSW). Council is required by the provisions of the *Valuation of Land Act 1916* to apply these valuations and the base date of the land valuations is 1 July 2022, (effective 1 July 2023).

The Independent Pricing and Regulatory Tribunal of NSW has announced a rate peg amount of 4.2% for Tenterfield Shire council (this incorporates the 3.7% rate peg and an additional 0.5% population factor applicable to our Council) for the 2023/2024 financial year. Council has calculated the 2023/2024 base amount and ad valorems, taking into account the new valuations and the percentage increase applied to these townships and rating categories.

PAYMENT OF RATES

The Local Government Act provides that rates payable may be made in four instalments with the amount of each instalment becoming due and payable on the date of the instalment. The instalment dates for Council for the 2023/2024 rating year are as follows:

Instalment	Issue Date	Due date
First	31 July 2023	31 August 2023
Second	31 October 2023	30 November 2023
Third	Third 31 January 2024 28 Febr	
Fourth	30 April 2024	31 May 2024

During the year in accordance with the Local Government Act 1993, a supplementary levy may be issued which will affect the number of instalments paid by the ratepayer. The rates and charges are apportioned over the instalment due dates that remain after the supplementary levy is applied.

To assist in alleviating hardship that may arise in this situation, consideration will be given to the formulation of an agreement with the ratepayer under Section 564 of the Local Government Act 1993 for the payment of rates and charges and the waiving of interest penalties if the agreement is adhered to.

TENTERFIELD SHIRE COUNCIL

Ordinary Rating Structure 2023-2024 – 4.2% Rate Peg

Pending the outcome of the Independent Pricing and Regulatory Tribunal of NSW the Special Rates Variation Percentage will be applied to the rating structure and supersede the supplied rating structure

Rate Category	Total No of Assess	Land Value	Percentage of Total Land Value	Base Rate	Total Base Amount	Ad Valorem Dollar Rate	Total Ad Valorem	Total Rate Levy	Average Rates Per Assessment	% of income from the base	Actual % Yield per Category	Average Increase from 2022/2023	Average increase weekly from 2023/2024
Residential Tenterfield	1604	170,843,710.00	10.30%	\$341.00	\$546,964.00	\$0.00329767	\$ 563,385.84	\$1,110,349.84	\$ 692.24	49.26%	22.02%	\$ 27.49	\$ 0.53
Residential Tenterfield (Urban)	8	2,962,000.00	0.18%	\$341.00	\$2,728.00	\$0.00296531	\$ 8,783.26	\$ 11,511.26	\$ 1,438.91	23.70%	0.23%	\$ 50.43	\$ 0.97
Residential Other	1503	274,347,577.00	16.54%	\$167.00	\$251,001.00	\$0.00243587	\$ 668,276.32	\$ 919,277.32	\$ 611.63	27.30%	18.23%	\$ 12.11	\$ 0.23
Residential Urbenville	130	9,834,300.00	0.59%	\$305.00	\$39,650.00	\$0.00429609	\$ 42,249.08	\$ 81,899.08	\$ 629.99	48.41%	1.62%	\$ 26.42	\$ 0.51
Residential Jennings	106	6,009,900.00	0.36%	\$305.00	\$32,330.00	\$0.00554645	\$ 33,333.64	\$ 65,663.64	\$ 619.47	49.24%	1.30%	\$ 21.96	\$ 0.42
Residential Drake	82	3,874,400.00	0.23%	\$305.00	\$25,010.00	\$0.00653752	\$ 25,328.98	\$ 50,338.98	\$ 613.89	49.68%	1.00%	\$ 15.61	\$ 0.30
Farmland General	1478	1,165,397,340.00	70.27%	\$435.00	\$642,930.00	\$0.00155099	\$1,807,514.73	\$2,450,444.73	\$ 1,657.95	26.24%	48.59%	\$ 41.54	\$ 0.80
Business Tenterfield	192	18,915,980.00	1.14%	\$580.00	\$111,360.00	\$0.01049460	\$ 198,515.64	\$ 309,875.64	\$ 1,613.94	35.94%	6.14%	\$ 57.29	\$ 1.10
Business Other	16	4,249,340.00	0.26%	\$300.00	\$4,800.00	\$0.00335324	\$ 14,249.04	\$ 19,049.04	\$ 1,190.57	25.20%	0.38%	\$ 59.54	\$ 1.15
Business Urbenville	14	1,049,100.00	0.06%	\$284.00	\$3,976.00	\$0.00409919	\$ 4,300.46	\$ 8,276.46	\$ 591.18	48.04%	0.16%	\$ 26.60	\$ 0.51
Business Jennings	2	205,200.00	0.01%	\$284.00	\$568.00	\$0.00314882	\$ 646.14	\$ 1,214.14	\$ 607.07	46.78%	0.02%	\$ 26.69	\$ 0.51
Business Drake	8	387,400.00	0.02%	\$284.00	\$2,272.00	\$0.00612767	\$ 2,373.86	\$ 4,645.86	\$ 580.73	48.90%	0.09%	\$ 25.33	\$ 0.49
Mining	10	410,430.00	0.02%	\$472.00	\$4,720.00	\$0.01419787	\$ 5,827.23	\$ 10,547.23	\$ 1,054.72	44.75%	0.21%	\$ 36.53	\$ 0.70
TOTALS	5153	1,658,486,677	100%		\$1,668,309.00		\$3,374,784.22	\$5,043,093.22			100.00%		

TENTERFIELD SHIRE COUNCIL

SRV Ordinary Rating Structure 2023-2024 – 43.0% Increase including Rate Peg

Pending the outcome of the Independent Pricing and Regulatory Tribunal of NSW the Special Rates Variation Percentage will be applied to the rating structure and supersede the supplied rating structure

										1			
	Total No	Land	Percentage of Total Land		Total	Ad Valorem	Total	Total Rate	Average Rates Per	% of income	Actual	Average	Average increase weekly
	of Assess	Value	Value	Base Rate	Base Amount	Dollar Rate	Ad Valorem	Levy	Assessment	from the base	% Yield per	Increase from	from
Rate Category											Category	2022/2023	2023/2024
Residential Tenterfield	1604	170,843,710.00	10.30%	\$429.00	\$688,116.00	\$0.00471567	\$ 805,641.74	\$ 1,493,757.74	\$ 931.27	46.07%	21.58%	\$ 266.52	\$ 5.13
Residential Tenterfield (Urban)	8	2,962,000.00	0.18%	\$429.00	\$3,432.00	\$0.00424040	\$ 12,560.06	\$ 15,992.06	\$ 1,999.01	21.46%	0.23%	\$ 610.53	\$ 11.74
Residential Other	1503	274,347,577.00	16.54%	\$186.00	\$279,558.00	\$0.00348330	\$ 955,635.14	\$ 1,235,193.14	\$ 821.82	22.63%	17.85%	\$ 222.30	\$ 4.27
Residential Urbenville	130	9,834,300.00	0.59%	\$380.00	\$49,400.00	\$0.00614341	\$ 60,416.18	\$ 109,816.18	\$ 844.74	44.98%	1.59%	\$ 241.17	\$ 4.64
Residential Jennings	106	6,009,900.00	0.36%	\$380.00	\$40,280.00	\$0.00793143	\$ 47,667.10	\$ 87,947.10	\$ 829.69	45.80%	1.27%	\$ 232.18	\$ 4.47
Residential Drake	82	3,874,400.00	0.23%	\$380.00	\$31,160.00	\$0.00934866	\$ 36,220.45	\$ 67,380.45	\$ 821.71	46.24%	0.97%	\$ 223.43	\$ 4.30
Farmland General	1478	1,165,397,340.00	70.27%	\$565.00	\$835,070.00	\$0.00221791	\$2,584,746.06	\$ 3,419,816.06	\$ 2,313.81	24.42%	49.41%	\$ 697.41	\$ 13.41
Business Tenterfield	192	18,915,980.00	1.14%	\$769.00	\$147,648.00	\$0.01500728	\$ 283,877.37	\$ 431,525.37	\$ 2,247.53	34.22%	6.24%	\$ 690.88	\$ 13.29
Business Other	16	4,249,340.00	0.26%	\$371.00	\$5,936.00	\$0.00479513	\$ 20,376.13	\$ 26,312.13	\$ 1,644.51	22.56%	0.38%	\$ 513.49	\$ 9.87
Business Urbenville	14	1,049,100.00	0.06%	\$344.00	\$4,816.00	\$0.00586185	\$ 6,149.66	\$ 10,965.66	\$ 783.26	43.92%	0.16%	\$ 218.68	\$ 4.21
Business Jennings	2	205,200.00	0.01%	\$344.00	\$688.00	\$0.00450282	\$ 923.98	\$ 1,611.98	\$ 805.99	42.68%	0.02%	\$ 225.60	\$ 4.34
Business Drake	8	387,400.00	0.02%	\$344.00	\$2,752.00	\$0.00876257	\$ 3,394.62	\$ 6,146.62	\$ 768.33	44.77%	0.09%	\$ 212.93	\$ 4.09
Mining	10	410,430.00	0.02%	\$614.00	\$6,140.00	\$0.02030295	\$ 8,332.94	\$ 14,472.94	\$ 1,447.29	42.42%	0.21%	\$ 429.10	\$ 8.25
TOTALS	5153	1,658,486,677	100%		\$2,094,996.00		\$4,825,941.43	\$ 6,920,937.43			100.00%		

STATEMENT OF CHARGES

Water Supply Charges

Water Pricing Policy Statement

Council proposes to adopt as part of the 2023/2024 Operational Plan a Policy for Water Pricing, which incorporates the user pays principle. The proposed water pricing policy for the 2023/2024 financial year is based on the following charging components:

- (a) An annual availability charge which applies to each individual connection to the water supply and to each property to which a service connection is available to a Water Supply System;
- (b) A consumption-based charge for each kilolitre of water consumed; and
- (c) Provide a credit/credits to the selected property assessments for the previous application of the Water Infrastructure Charge Refer Council Meeting 26 October 2022 (Resolution No. 216/22).

The purpose of this Water Pricing Policy is to:

- (a) assist in the financing of the water supply;
- (b) provide for future capital works; and
- (c) encourage a conservative use of water.

Water Supply - Availability Charge

In accordance with best practice guidelines and in accordance with sections 501 and 502 of the Local Government Act 1993, Council proposes to:

- 1. Levy an Availability Charge applicable to all properties connected or able to be connected to a Council Water Supply; and
- 2. Levy a water supply charge on land that is supplied with water from a water pipe of the Council and also land that is situated within 225 metres of a water pipe and physically able to be connected to Council's water main.

The minimum non-residential water access charge will be the annual residential water availability charge.

The service availability charge for residential strata lots will be 75% of the residential service availability charge. This recognises that strata developments utilise shared services infrastructure at a lower cost to Council and provides a higher income yield for each rateable property.

The water supply service availability charge is levied as a charge per water connection to each rates assessment.

The account for the access charge will be included on the annual rates notice.

Water Supply - Consumption Charges

In accordance with Section 502 of the Local Government Act 1993, it is proposed to levy a charge for the consumption of water for all properties, as detailed in Council's Fee and Charges document which forms part of this Operation Plan.

Mount Lindesay Private Water Line Maintenance Charge

A charge per water meter as outlined in the Fees and Charges Section of the Operational Plan applies to users of the Mount Lindesay Private Water Line.

Minimum Account Charge

In the 2023/2024 Billing Year there will be a minimum water consumption account charge of \$25.00 for each of the six (6) monthly billing periods.

Damaged Water Meter

If at the time of reading a water meter it is found to be damaged or has stopped, an account will be issued based upon the average water consumption for the previous two corresponding water billing periods.

Concealed Water Leakage Concession Policy

Please refer to Council's Policy on this matter if you have a concealed water leak. The Policy is available on Council's website.

Council's water charging structure for 2023/2024 is as follows:

Description	Services	Charge \$	Levied \$
Residential Water Service Availability	1,861	711.00	1,323,171.00
Rural Other Water Service Availability	31	711.00	22,041.00
Res Strata Water Service Availability	17	534.00	9,078.00
Mt Lindesay Private Line Water Availability	11	886.00	9,746.00
Total Residential/Rural/Mt Lindesay Water Access Charges	1,920		1,364,036.00
20mm Service Availability	223	711.00	158,553.00
25mm Service Availability	15	711.00	10,665.00
32mm Service Availability	8	711.00	5,688.00
40mm Service Availability	16	1,070.00	17,120.00
50mm Service Availability	22	1,665.00	36,630.00
80mm Service Availability	-	4,275.00	
100mm Service Availability	-	6,680.00	
150mm Service Availability	-	15,020.00	
Voluntary & Charitable Water Availability	27	136.50	3,685.50
Total Non-Residential Water Access Charges	311.00		232,341.50
Minimum Water Account Charge (each billing cycle)		25.00	
Residential/Rural/Mt Lindesay <450kl	As per usage	5.90	
Residential/Rural/Mt Lindesay >450kl	As per usage	9.20	
Non-Residential <1,000 kl	As per usage	5.90	
Non-Residential >1,000 kl	As per usage	9.20	
Total Water Consumption Charges			

Sewerage Service Charges

Sewerage Service - Availability Charge

In accordance with Section 501 of the Local Government Act 1993 Council proposes to levy a Sewerage Service Charge on each parcel of rateable land for which the service is provided or proposed.

A parcel of rateable land is defined in the Local Government Act 1993 as a portion or parcel of land separately valued under the Valuation of Land Act 1916.

The Sewerage Availability Charge shall be applied in accordance with Section 502 of the Local Government Act 1993 to every rates assessment for each sewerage connection from 1 July in each rating year when the property subject to the rate assessment is within the Tenterfield or Urbenville Town areas and;

- (a) is connected to the Council's sewer main, or
- (b) is not connected to the Council's sewer main but any part of the property is no more than 75 metres from the Council's sewer main, and
- (c) is land from which sewerage can be discharged into the sewers of Council.

In respect of Residential Flat Buildings a Sewerage Availability Charge will be made equal to the number of residential flats multiplied by the service charge for a single connection. This fee is set out in Council's Fees and Charges.

Annual Charges - Non-Residential Sewerage

Commercial and other non-residential sewerage customers will incur an access charge based on the size of the customer's water connection meter plus a pay-for-use charge based on the water used. The annual non-residential sewerage charge will be calculated using the following formula:

Annual Non-residential Sewerage Charge = AC+ SDF x (C x UC) where;

- AC = Access Charge
- SDF = Sewerage Discharge Factor determine by type/use.
- C = Customers annual water consumption measured in kilolitres.
- UC = Sewerage Usage Charge per kilolitre.

The Non-Residential Sewerage Charge is levied as a charge per sewerage connection to each rates assessment, or if no sewerage connection is provided then a Non-Residential Sewerage Charge will be levied on all sewered land in the Tenterfield and Urbenville Town areas within 75 metres of Council's main and physically able to be connected to Councils main (in accordance with Section 552 of the Local Government Act 1993), the Non-Residential Sewerage Service Charge will then apply to the number of parcels of rateable land separately valued as at 1 July in each rating year.

The minimum non-residential sewerage access charge will be the annual residential sewerage availability charge.

Council's sewerage charging structure for 2023/2024 is as follows:

Description	Services	Charge \$	Levied \$
Residential Sewer Availability	1,718	1,390.00	2,388,020.00
Total Residential Sewer Access Charges	1,718		2,388,020.00
20mm Service Availability	206	1,390.00	286,340.00
25mm Service Availability	13	1,390.00	18,070.00
32mm Service Availability	8	1,800.00	14,400.00
40mm Service Availability	13	2,800.00	36,400.00
50mm Service Availability	16	4,366.00	69,856.00
80mm Service Availability	-	11,175.00	
100mm Service Availability	-	17,460.00	
150mm Service Availability	-	39,295.00	
Voluntary & Charitable Sewer Availability	26	268.00	6,968.00
Total Non-Residential Sewer Access Charges	282		432,034.00
Sewerage Usage Charge – Non-Residential	As per usage	3.35	

Trade Waste Charges

The trade waste bill for a trade waste customer will be:

 $TW = A + I + C \times UC \times TWDF$, where

- TW = Total annual trade waste fees and charges (\$)
- A = Annual Trade Waste fee (\$)
- I = Re-inspection fee (\$) where required
- C = Customer's annual water consumption (kl)
- UC = Trade waste usage charge (\$/kl)
- TWDF = Trade waste discharge factor

The account for the annual trade waste fee (A) and re-inspection fee (I) (where applicable) will be included on the annual rates notice. The account for the usage component applicable) will be issued on a half yearly billing cycle in conjunction with Water Usage accounts.

Council's trade waste charging structure for 2023/2024 is as follows:

Description	Services	Charge \$	Levied \$
Annual Trade Waste Charge - Category 1	63	194.00	12,222.00
Total Annual Trade Waste Charges - Category 1	63		12,222.00

On-Site Sewage Management Charges

The owners of all premises (other than those licensed by the NSW EPA) are required to obtain approval to operate an on-site human waste treatment facility.

Upon initial assessment of an on-site sewage management system Council may require owners to undertake maintenance or replacement of a system prior to issuing an approval, to ensure that performance standards are being adhered to, and human and environmental health impacts are minimised.

Council proposes to apply a user pays policy in regard to the recovery of costs for on-site sewage management.

Waste Management Charges

Waste Management Facility Charge

In accordance with Section 501 of the Local Government Act 1993, it is proposed to levy an annual charge on all rateable properties as a Waste Management Facility charge. This charge recognises that all rateable properties potentially produce waste and hence should contribute to the costs of running Council's Waste Management Facilities. Gate charges will apply as per Council's Fees and Charges Policy.

Waste Management Collection Charge - Domestic

In accordance with Section 496 of the Local Government Act, 1993, Council proposes to levy an Annual Domestic Waste Management Collection Charge on Domestic Properties within the designated Domestic Waste Collection Service Area.

Waste Management Collection Charge – Non-Domestic

In accordance with Section 501 of the Local Government Act, 1993, Council proposes to levy an Annual Waste Management Charge on Non-Domestic Properties. Within the designated Non-Domestic Waste Collection Service Area.

Waste Management - Recycling Collection Charges

In accordance with Section 496 of the Local Government Act, 1993, Council proposes to levy an Annual Waste Recycling Charge on all residential properties within the designated Residential Waste Recycling Collection Service Area.

In accordance with Section 501 of the Local Government Act, 1993, Council proposes to levy an Annual Waste Recycling Charge on all Non-Residential properties within the designated Non-Residential Waste Recycling Collection Service Area.

The collection areas related to the above items are described in the maps at the end of this Revenue Policy.

Council's Waste Management charging structure for 2023/2024 is as follows:

Description	Services	Charge \$	Levied \$
Waste Collection - Domestic 120L Bin	1096	483.00	529,368.00
Waste Collection - Rural 120L Bin	84	483.00	40,572.00
Total Waste Collection Charges Domestic/Rural 120L	1180.00		569,940.00
Waste Collection – Domestic 240L Bin	837	621.00	519,777.00
Waste Collection - Rural 240L Bin	38	621.00	23,598.00
Total Waste Collection Charges – Domestic/Rural 240L	875		543,375.00
Waste Collection - Commercial 120L Bin	75	483.00	36,225.00
Total Waste Collection Charges – Commercial 120L	75		36,225.00
Waste Collection - Commercial 240L Bin	269	621.00	167,049.00
Total Waste Collection Charges – Commercial 240L	269		167,049.00
Waste Management Facility Charge	4947	305.00	1,508,835.00
Total Waste Management Facility	4947		1,508,835.00
Waste Management Facility Charge – Non-Residential	206	305.00	62,830.00
Total Waste Management Facility – Non- Residential	206		62,830.00
Waste Recycling Collection - Residential	1,810	93.50	169,235.00
Total Waste Recycling Collection Charge - Residential	1,810		169,235.00
Waste Recycling Collection – Non-Residential	231	93.50	21,598.50
Total Waste Recycling Collection Charge – Non- Residential	231		21,598.50

Bulk Solid Waste Charges

In accordance with Section 502 of the Local Government Act 1993, Council proposes to charge a Waste Management Charge for the removal of Builders waste and waste from commercial and domestic properties by way of a collection service from Trade Waste Bins and for the rental and delivery of these bins.

The proposed charges are set out in Council's Fees and Charges under the Waste Management section.

Waste Vouchers

Council has determined that three (3) waste vouchers will be issued with the annual rate notices. The value of these vouchers will be \$33.00 each, which is equivalent to the fee for a small box trailer. For terms and conditions please refer to the vouchers when you receive them.

Stormwater Management Services

In accordance with Section 496A of the Local Government Act 1993 Council proposes, to make and levy an annual charge for the provision of stormwater management services for each eligible parcel of land within the Business - Tenterfield sub-category boundary, all properties within the boundary of the village of Jennings and all properties within the boundary of the village of Urbenville.

Council's Stormwater charging structure for 2023/2024 is as follows:

Description	Services	Charge \$	Levied \$
Stormwater Management			
Stormwater Management Charge - Residential	1674	25.00	41,850.00
Stormwater Management Charge - Strata	17	12.50	212.50
Total Stormwater Management Charge - Residential	1,691		42,062.50
Stormwater Business < 350m2	39	25.00	975.00
Stormwater Business 350m2 - 1200m2	62	50.00	3,100.00
Stormwater Business 1200m2 - 5000m2	60	221.00	13,260.00
Stormwater Business > 5000m2	34	357.00	12,138.00
Total Stormwater Management Charge - Non - Residential	195		29,473.00

Fees and Charges

Fees and Charges are calculated in accordance with the recommendations of the Local Government and Shires Association detailed in "Determination of Fees and Charges under the Local Government Act, 1993" released in April, 1994.

Variations outside this policy are identified specifically in the Fees and Charges Schedule.

Where fees are fixed by State Government Acts and regulations they will be adjusted as legislation requires.

A list of Council's Fees and Charges proposed to apply from the 1 July 2023 is included in this Operational Plan.

Financial Hardship

Ratepayers experiencing financial hardship in respect of payment of Council rates and charges can apply to Council for alternative payment options to assist the alleviation of such hardship.

Anyone in this situation should contact Council's finance team who will discuss options in confidence and advise what can be done to assist ratepayers with the payment of rates and charges.

Interest on Rates and Charges Excluding General Fees and Charges

The NSW Minister for Local Government announces in accordance with Section 566(3) of the Local Government Act 1993 the maximum amount of interest that can be levied on overdue rates and charges.

For the 2023/2024 financial year, the NSW Minister for Local Government will set the interest rate subject to determination by the Office of Local Government for the period 1 July 2023 to 30 June 2024 (yet to be determined).

Council will apply these interest rates for 2023/2024 as determined by the NSW Minister for Local Government.

Section 67 Private Works Charges

Details of the Private Works Charges for 2023/2024 are included in the fees and charges section of this Operational Plan.

Borrowings

Council is currently awaiting final determination by IPART for a Special Rate Variation application. Dependent on this determination Council will propose its final loan borrowing for FY 2023-2024.

Restricted Funds

Internally restricted funds and externally restricted fund are set aside each year for various purposes. The balance of these funds as at 30 June in any given year can be found in Council's audited Financial Statements.

APPENDIX A - CATEGORISATION AND COLLECTION AREA MAPS

APPENDIX B - FEES AND CHARGES